RUBRICS

PUNJAB EXAMINATION COMMISSION

EXAMINATION 2019, GRADE 8
MATHEMATICS PART — B (Subjective Type)

Note: If students use correct method other then here, they will be awarded full marks.
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Q.No.33.(a) If A={2,4,6,8} and B ={2,4,5,6} then verify the commutative law of 5)
union.
S5 S A 0siB S s 5B = {2,4,5,6) u3) A= {2,4,6,8}.8

AUB ={2,4,6,8}u{2,4,5,6} ={2,4,5,6,8} 2 mark

BUA ={2,4,5,6}u{2,4,6,8} ={2,4,5,6,8} 2 mark

Therefore, AUB = BUA 1 marks

(b) If A={1,2,3,4,5},B={1,2,4,6,8} and C={1,2,6,7,8} then show that (5)

"S U".»Js ‘:‘2'1":' 33 C={1121617!8}J3‘ B:{112141618}‘ A:{l’2’3’4’5}’)g‘
ANBNC)=(ANB)NC

BNC={1,2,6,8} 1 mark
ANBNC) = {1,2} 1 mark
ANB={1,2,4} 1 mark
(ANB) NC={1,2} 1 mark
ANBNC)=ANB) NC 1 mark

Q.No0.34. (a) The area of a square shaped field is 28561 sg. metre. How long a piece of (5)
string is required for fixing along the sides as a fence?

il S S 5L 0 S Gk o e 1 0 28561 A 1S CugS a e )

$ SR (il
Area of Square ~2, S & = 28561 sq meter
Length =+/28561 sl
=J13x13x13x13 e 1 mark
=V13*x13* e 0.5 mark
=13%x13 e 0.5 mark
=169m e 1 mark
Length of required string bl mslhae (S oy =4x169 —eeeee- 1 mark
Length of required string el mslas (S () =676M  ------- 1 mark
(b) Evaluate and express the answer into decimal number system. (5)

S O il ase g Lde) S s L) S da
67 + (2210)5 + (1101),

(2210)5 = 2x5%+2x52+1x514+0x5° = 305 (2 mark)
(1101); = 1x23 +1x224+0x2+1x2° = 13 (2 mark)
67 + (2210)s + (1101), = 67+305+13 (0.5 mark)
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=385 (0.5 mark)

Q.No.35. (a) If x+l = 4then find the value of x*+ % @
X X

o - b4 1 z
5 x“+%-u—u5 polre Cuad < x+;=4¢5‘

2
(x+£) =(4)2 0.5 mark
X
, 1
X“+— +2=16 1 mark
X
, 1
X +?=16_2 0.5 mark
, 1 ? 2
X'+ | =(14) 0.5 mark
X
4 l
X' +—+2=196 1 mark
X
4 1
X F =194 0.5 mark
(b)The difference of two numbers is 5. The sum of 3 times of one number and 4 times (8)

of the other number is 1. Find the numbers.
Updalal :a:)seaaﬁusjlaé QS £ gl e Lsuuéa&da\ :'5‘_”5154\.@\‘94

oS pslra dlas)
Suppose the numbersare x and y. Then according to the given condition,
X=YV=5 i, 1) 1 mark
X+4y=1 ...ccocevninnnnn. (i1) 1 mark
From (i) X= Y45 oo, (i) putin(ii) 1 mark
3(y+5)+ 4y =1 1 mark
3y+15+ 4y =1 0.5 mark
7y = 1-15 0.5 mark
y=-2 0.5 mark
Put y = -2 in (iii) 0.5 mark
X= -2+5 0.5 mark
x=3 0.5 mark
The required numbers are 3 and -2 1 mark
op e msthe-2 )40 3
Q.No.36. (a) Draw a square ABCD when the sum of the lengths of its diagonal and 5)
aside is 4cm. -=4cm =S o | S ol
A gara S (gl (S Al < ) 29 A9 ABCD g
For drawing the correct line segment 0.5 mark
For drawing the correctangle of 90° 0.5mark
For drawing each correctarcs 6x0.5 = 3marks
For correct labelling of square 1mark
0.5l 22 eSS ha G 1S, acld
0.5 i Bt Cxl_u ~ ) ) Caw yalS 9o
6x0.5=3 i S i )
%
1yl dad G o 5S 1 50
R S5
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(b) Prove that, if two lines intersect each other then the opposite vertical angles are 5)
congruent.
o g Jldia ) ALl gl y 55 (S i S o pegd Sl gkl g S)AS ( as ol
Diagram _n s« 1 mark
Given p s 0.5mark
To prove— sthae 0.5mark
Constructiondes 1 mark
Statements<tily 1 mark
Reasonsd:¥a 1 mark
Q.No.37. (a) Find the value of b from the given triangle. (5)
S pslra Ciad S dda S Gl K 50
C
. C
sinmZC = b
o
2 marks b 60 a
. 243
sSin 60° = T\/_ 30°
2 .
@ = # 1 mark (for correct value of sifd0®) ¢c—2y3 B
(5 ST e G (£ Sin 60°)
b=2x2 =4 1 mark
b=4cm 1 mark
(If unit is not mentioned then 1 mark will be deducted) 1 58 e e SS) R
(b) Construct a histogram of the following data. PAH TP el N G)
Class boundaries sle Ada | 8-11 11-14 | 14-17 | 17-20
49
Frequency A 20 15 10 25
For drawing and correct labelling of X-Axis 0.5 mark
02 =S dad iy )y iaieS X-AXIS
For drawing and correct labelling of Y-AXxis 0.5 mark
o =S el Gy sl gy S ieSY-AXIS
For the construction of each correct bar of histogram 1 x4 =4 marks
o ok Gy S as LS

[Grade-8, Mathematics Part-B]

Page 3 of 4



